Precalculus – Parametric Equations – Problems 


p.1
1. Eliminate the parameter for: 
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answer: x = y2 – 5y + 5

2. Graph in Cartesian coordinates by eliminating the parameter.
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answer: 
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3. Graph in 
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answer: 
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4. Eliminate the parameter and graph:




answers:

(a) 
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(b) 
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(b) 
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(c) 
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(d) 
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(c) 
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(d) 
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5. Eliminate the parameter and graph:


(a) 
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(b) 
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(c) 
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(d) 
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6. Eliminate the parameter by taking the inverse sine of both sides of the 1st equation.

    
Discuss
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7. Eliminate the parameter and graph: 
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answer: 
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8. Eliminate the parameter:  
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answer: 
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9. Find a set of parametric equations for the curve: x2 + y2 – 2x = 0

by using y = rx and substituting into the equation above.
       answer:
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Precalculus – Parametric Equations – Problems 


p.2

10. Find the parametric equations for: 
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answer: 
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11. Find the parametric equations: 
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answer: 
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12. Find the parametric equations: 
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13. Graph: 
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answer: cycloid (R = 2)

14. Graph: 
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15. Graph:  (a) 
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(b) 
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answers: 
(a) y = x3  , the top half including (0,0)

(b) 
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, top half

16. Eliminate the parameter: 
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answer: 
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(Hint: y/x = ?)

17. Graph: 
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answer: y = 8x2 – 1 , 
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18. Graph: 
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 “The Witch of Agnesi”

answer:    
                 [image: image46.png]



Solution: Square both equations and subtracting eliminates the parameter! x2 – y2 = 4 is a hyperbola which in standard from looks like: � EMBED Equation.DSMT4  ���
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